Weighing method

Description

Sequential
2 Axle, 2 Plate

Accuracy: £1~3%
(WIM: £3%)

[Scale ID]
Axle 1= Left: 1/ Right: 2
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A In case of We:gh—ln-MDtion (WIM), you must

install the dummy pad (longer to the length of
the vehicle) back and forth on scale.

Synchronous
2 Axle, 4 Plate

Accuracy: £0.1%

[Scale ID]
Axle 1= Left: 1/ Right: 2
Axle 2w Left: 3/ Right: 4
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Synchronous
3 Axle, 6 Plate

Accuracy: £0.1%

[Scale ID]
Axle 1w Left: 1/ Right: 2
Axle 2w Left: 3/ Right: 4
Axle 3w Left: 5/ Right: 6
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o Can be installed up to maximum 6 axles




